
Distributive property: Whole number coefficients: Worksheet 5.1 
      

 

  Name ……………………………… Date ………………………………  Score ………………………………… 

  Simplify the following using distributive property of multiplication: 

1. 6(y – 4) 

2. 3(x + 8) 

3. 4(3x2 + 2x) 

4. 5(7x – 9) 

5. 6(8x2 − 11) 

6. −11(4m + 3n) 

7. 7(9q + 4) 

8. 2(3x −8) 

9. 12(5x − 4) 

10. 3(9y3 + 11) 

 



Solutions: Worksheet 5.1 

 

 

 

1. 6y − 24  

2. 3x + 24  

3. 12x2 + 8x  

4. 35x − 45  

5. 48x2 − 66  

6. −44m −33  

7. 63q + 28  

8. 6x – 16  

9. 60x − 48  

10. 27y3 + 33  

 

 


